A Triangle "Broken" into Four Triangles – the Special Status of the Central Triangle

Moshe Stupel

Shannan Academic College of Education & Gordon Academic College of Education P.O.B. 906, Haifa, Israel email: stupel@bezeqint.net

Abstract. The cevians drawn through a point inside a given triangle intersect the opposite sides at three points. They form a triangle which subdivides the given triangle into four parts. The paper focuses on properties of the central triangle with respect to the other subtriangles.

Key Words: Cevians, central subtriangle MSC: 51M04, 51M16, 51M25

1. Introduction

In an arbitrary triangle three cevians were drawn, which meet at a single point in the triangle's interior. Their points of intersection with the sides divide the original triangle into a *central triangle* containing the common point of the cevians and three *corner triangles*, each of which includes a vertex of the original triangle. Thus, the area of the original triangle "is broken" into four subtriangles (Figure 2). The paper focuses on special and surprising properties of the central triangle with respect to the other three triangles.

Description of the task. Let AD, BE, CF be cevians passing trough the point O in the interior of the triangle $\triangle ABC$, as shown in Figure 1. We denote

$$\alpha := \frac{BD}{DC}, \quad \beta := \frac{CE}{EA}, \quad \gamma := \frac{AC}{FB} \quad (\alpha\beta\gamma = 1).$$

The points D, E, F form four triangles, whose areas are

$$S_{\rm A} = S_{\triangle {\rm AEF}}, \quad S_{\rm B} = S_{\triangle {\rm BDF}}, \quad S_{\rm C} = S_{\triangle {\rm DEC}}, \quad S_{\rm O} = S_{\triangle {\rm DEF}}.$$

We look for properties of the central triangle $\triangle DEF$ with respect to the three corner triangles. Lemma 1. There holds

(1)
$$\frac{S_{A}}{S_{\triangle ABC}} = \frac{\gamma}{(\gamma+1)(\beta+1)},$$
 (3) $\frac{S_{C}}{S_{\triangle ABC}} = \frac{\beta}{(\beta+1)(\alpha+1)},$
(2) $\frac{S_{B}}{S_{\triangle ABC}} = \frac{\alpha}{(\alpha+1)(\gamma+1)},$ (*) $\frac{S_{O}}{S_{\triangle ABC}} = \frac{\alpha\beta\gamma+1}{(\alpha+1)(\beta+1)(\gamma+1)}.$

Statement (*) is Routh's Theorem [2, 5, 6].

ISSN 1433-8157/2.50 © 2018 Heldermann Verlag



Figure 1: The cevians through O



Figure 2: The four subtriangles

(5)

Proof. $\frac{S_{\rm A}}{S_{\rm ABC}} = \frac{\rm AF}{\rm AB} \cdot \frac{\rm AE}{\rm AC} \cdot \frac{\rm sin A}{\rm sin A} = \frac{\gamma}{(\gamma+1)(\beta+1)}$, and the proof is similar for the other equalities. Routh's theorem results from the identity $\frac{S_{\triangle ABC} - S_A - S_B - S_C}{S_{\triangle ABC}} = \frac{S_O}{S_{\triangle ABC}}$ and the proof of the equalities (1), (2) and (3).

A first inequality. From (*) follows in the case $\alpha\beta\gamma = 1$

$$\frac{S_{\rm O}}{S_{\triangle \rm ABC}} = \frac{2}{(\alpha+1)(\beta+1)(\gamma+1)} \le \frac{2}{8\sqrt{\alpha\beta\gamma}} = \frac{1}{4}, \text{ hence } S_{\rm O} \le \frac{1}{4}S_{\triangle \rm ABC}, \tag{4}$$

and equality holds only if $\alpha = \beta = \gamma = 1$.

2. The theorems

There are three different means of the areas S_A , S_B and S_C to distinguish, • the arithmetic mean $M_a = \frac{S_A + S_B + S_C}{3}$,

- the geometric mean $M_{\rm g} = \sqrt[3]{S_{\rm A} \cdot S_{\rm B} \cdot S_{\rm C}}$, and
- the harmonic mean $M_{\rm h} = \frac{3}{\frac{1}{S_{\rm A}} + \frac{1}{S_{\rm P}} + \frac{1}{S_{\rm P}}}$.

 $M_{\rm a} \ge M_{\rm g} \ge S_{\rm O} \ge M_{\rm h}.$ Theorem 1.

Proof. a) We first prove that $M_{\rm a} \geq S_{\rm O}$. It was proven that $S_{\rm O} \leq \frac{1}{4} S_{\triangle ABC}$, therefore $S_{\rm A}$ + $S_{\rm B} + S_{\rm C} \ge \frac{3}{4} S_{\triangle ABC}$, hence

$$\frac{S_{\mathrm{A}} + S_{\mathrm{B}} + S_{\mathrm{C}}}{3} \ge \frac{1}{4} S_{\triangle \mathrm{ABC}} \ge S_{\mathrm{O}}.$$

b) We prove that $M_{\rm g} \ge S_{\rm O}$.

$$M_{\rm g} = \sqrt[3]{S_{\rm A} \cdot S_{\rm B} \cdot S_{\rm C}} = S_{\triangle \rm ABC} \cdot \sqrt[3]{\frac{\alpha\beta\gamma + 1}{(\alpha + 1)^2(\beta + 1)^2(\gamma + 1)^2}} = S_{\triangle \rm ABC} \cdot \sqrt[3]{\frac{1}{(\alpha + 1)^2(\beta + 1)^2(\gamma + 1)^2}} = S_{\triangle \rm ABC} \cdot \sqrt[3]{\frac{1}{(\alpha + 1)^2(\beta + 1)^2(\gamma + 1)^2}} = S_{\triangle \rm ABC} \cdot \sqrt[3]{\frac{1}{(\alpha + 1)^2(\beta + 1)^2(\gamma + 1)^2}} = S_{\triangle \rm ABC} \cdot \sqrt[3]{\frac{1}{(\alpha + 1)^2(\beta + 1)^2(\gamma + 1)^2}} = S_{\triangle \rm ABC} \cdot \sqrt[3]{\frac{1}{(\alpha + 1)^2(\beta + 1)^2(\gamma + 1)^2}} = S_{\triangle \rm ABC} \cdot \sqrt[3]{\frac{1}{(\alpha + 1)^2(\beta + 1)^2(\gamma + 1)^2}} = S_{\triangle \rm ABC} \cdot \sqrt[3]{\frac{1}{(\alpha + 1)^2(\beta + 1)^2(\gamma + 1)^2}} = S_{\triangle \rm ABC} \cdot \sqrt[3]{\frac{1}{(\alpha + 1)^2(\beta + 1)^2(\gamma + 1)^2}} = S_{\triangle \rm ABC} \cdot \sqrt[3]{\frac{1}{(\alpha + 1)^2(\beta + 1)^2(\gamma + 1)^2}} = S_{\triangle \rm ABC} \cdot \sqrt[3]{\frac{1}{(\alpha + 1)^2(\beta + 1)^2(\gamma + 1)^2}} = S_{\triangle \rm ABC} \cdot \sqrt[3]{\frac{1}{(\alpha + 1)^2(\beta + 1)^2(\gamma + 1)^2}} = S_{\triangle \rm ABC} \cdot \sqrt[3]{\frac{1}{(\alpha + 1)^2(\beta + 1)^2(\gamma + 1)^2}} = S_{\triangle \rm ABC} \cdot \sqrt[3]{\frac{1}{(\alpha + 1)^2(\beta + 1)^2(\gamma + 1)^2}} = S_{\triangle \rm ABC} \cdot \sqrt[3]{\frac{1}{(\alpha + 1)^2(\beta + 1)^2(\gamma + 1)^2}} = S_{\triangle \rm ABC} \cdot \sqrt[3]{\frac{1}{(\alpha + 1)^2(\beta + 1)^2(\gamma + 1)^2}} = S_{\triangle \rm ABC} \cdot \sqrt[3]{\frac{1}{(\alpha + 1)^2(\beta + 1)^2(\gamma + 1)^2}} = S_{\triangle \rm ABC} \cdot \sqrt[3]{\frac{1}{(\alpha + 1)^2(\beta + 1)^2(\gamma + 1)^2}} = S_{\triangle \rm ABC} \cdot \sqrt[3]{\frac{1}{(\alpha + 1)^2(\beta + 1)^2(\gamma + 1)^2}} = S_{\triangle \rm ABC} \cdot \sqrt[3]{\frac{1}{(\alpha + 1)^2(\beta + 1)^2(\gamma + 1)^2}} = S_{\triangle \rm ABC} \cdot \sqrt[3]{\frac{1}{(\alpha + 1)^2(\beta + 1)^2(\gamma + 1)^2}} = S_{\triangle \rm ABC} \cdot \sqrt[3]{\frac{1}{(\alpha + 1)^2(\beta + 1)^2(\gamma + 1)^2}} = S_{\triangle \rm ABC} \cdot \sqrt[3]{\frac{1}{(\alpha + 1)^2(\beta + 1)^2(\gamma + 1)^2}} = S_{\triangle \rm ABC} \cdot \sqrt[3]{\frac{1}{(\alpha + 1)^2(\beta + 1)^2(\gamma + 1)^2}} = S_{\triangle \rm ABC} \cdot \sqrt[3]{\frac{1}{(\alpha + 1)^2(\beta + 1)^2(\gamma + 1)^2}} = S_{\triangle \rm ABC} \cdot \sqrt[3]{\frac{1}{(\alpha + 1)^2(\beta + 1)^2(\gamma + 1)^2}} = S_{\triangle \rm ABC} \cdot \sqrt[3]{\frac{1}{(\alpha + 1)^2(\beta + 1)^2(\gamma + 1)^2}} = S_{\triangle \rm ABC} \cdot \sqrt[3]{\frac{1}{(\alpha + 1)^2(\beta + 1)^2(\gamma + 1)^2}} = S_{\triangle \rm ABC} \cdot \sqrt[3]{\frac{1}{(\alpha + 1)^2(\beta + 1)^2(\gamma + 1)^2}} = S_{\triangle \rm ABC} \cdot \sqrt[3]{\frac{1}{(\alpha + 1)^2(\beta + 1)^2(\gamma + 1)^2}} = S_{\triangle \rm ABC} \cdot \sqrt[3]{\frac{1}{(\alpha + 1)^2(\beta + 1)^2(\gamma + 1)^2}} = S_{\triangle \rm ABC} \cdot \sqrt[3]{\frac{1}{(\alpha + 1)^2(\beta + 1)^2(\gamma + 1)^2}} = S_{\triangle \rm ABC} \cdot \sqrt[3]{\frac{1}{(\alpha + 1)^2(\beta + 1)^2(\gamma + 1)^2}} = S_{\triangle \rm ABC} \cdot \sqrt[3]{\frac{1}{(\alpha + 1)^2(\beta + 1)^2(\gamma + 1)^2}} = S_{\triangle \rm ABC} \cdot \sqrt[3]{\frac{1}{(\alpha + 1)^2(\beta + 1)^2(\gamma + 1)^2}} = S_{\triangle ABC} \cdot \sqrt[3]{\frac{1}{(\alpha + 1)^2($$

From $S_{\rm O} = S_{\triangle ABC} \cdot \frac{2}{(\alpha+1)(\beta+1)(\gamma+1)}$ follows

$$\frac{S_{\rm O}}{M_{\rm g}} = 2\left((\alpha+1)(\beta+1)(\gamma+1)\right)^{-\frac{1}{3}} = \frac{2}{\sqrt[3]{(\alpha+1)(\beta+1)(\gamma+1)}} \le \frac{2}{\sqrt[3]{8}} = 1.$$
 (6)

c) Let us prove that $S_{\rm O} \ge \frac{3}{\frac{1}{S_{\rm A}} + \frac{1}{S_{\rm C}} + \frac{1}{S_{\rm C}}}$, in other words, $\frac{1}{S_{\rm A}} + \frac{1}{S_{\rm B}} + \frac{1}{S_{\rm C}} \ge \frac{3}{S_{\rm O}}$.

Using the formulas (1)-(3), one has to prove that

$$\frac{(\gamma+1)(\beta+1)}{\gamma} + \frac{(\alpha+1)(\gamma+1)}{\alpha} + \frac{(\beta+1)(\alpha+1)}{\beta} \ge \frac{3(\alpha+1)(\beta+1)(\gamma+1)}{2}.$$

After dividing by $(\alpha + 1)(\beta + 1)(\gamma + 1)$, one has to prove the inequality

$$\frac{1}{\gamma(\alpha+1)} + \frac{1}{\alpha(\beta+1)} + \frac{1}{\beta(\gamma+1)} \ge 1.5.$$
 (7)

Here we proceed as follow: From Menelaus' Theorem [1, 3, 4] in the triangle ABD, cut by COF (see Figure 2), there holds $\frac{\alpha+1}{\alpha} \cdot \frac{\text{DO}}{\text{OA}} \cdot \frac{\gamma}{1} = 1$, therefore $\frac{\text{OD}}{\text{OA}} = \frac{1}{\gamma(\alpha+1)}$, and similarly $\frac{\text{OE}}{\text{OB}} = \frac{1}{\alpha(\beta+1)}$ and $\frac{\text{OF}}{\text{OC}} = \frac{1}{\beta(\gamma+1)}$. We denote $x_3 := S_{\triangle AOB}$, $x_2 := S_{\triangle AOC}$, $x_1 := S_{\triangle BOC}$. Then

$$\frac{\text{OD}}{\text{OA}} = \frac{x_1}{x_2 + x_3}, \quad \frac{\text{OE}}{\text{OB}} = \frac{x_2}{x_1 + x_3}, \quad \frac{\text{OF}}{\text{OC}} = \frac{x_3}{x_1 + x_2}.$$

Therefore, one has to prove that

$$\frac{x_1}{x_2 + x_3} + \frac{x_2}{x_1 + x_3} + \frac{x_3}{x_1 + x_2} \ge 1.5$$

This is a well-known inequality (Nesbitt's inequality [7, 8]), but we give a short proof. If $y_1 := x_1 + x_2$, $y_2 := x_1 + x_3$ and $y_3 := x_2 + x_3$ then

$$x_1 = \frac{y_1 + y_2 - y_3}{2}, \quad x_2 = \frac{y_3 + y_1 - y_2}{2}, \quad x_3 = \frac{y_2 + y_3 - y_1}{2}$$

and hence remains to prove that

$$\frac{y_1 + y_2 - y_3}{2y_3} + \frac{y_3 + y_1 - y_2}{2y_2} + \frac{y_2 + y_3 - y_1}{2y_1} \ge 1.5.$$

We obtain that

$$\frac{1}{2} \left(\underbrace{\frac{y_1}{y_2} + \frac{y_2}{y_1}}_{\geq 2} + \underbrace{\frac{y_2}{y_3} + \frac{y_3}{y_2}}_{\geq 2} + \underbrace{\frac{y_1}{y_3} + \frac{y_3}{y_1}}_{\geq 2} \right) - \frac{3}{2} \ge 1.5 \,.$$

We have thus proven (7) and Theorem (1).

Important conclusion. $S_{\rm O} \ge \min\{S_{\rm A}, S_{\rm B}, S_{\rm C}\}.$

Proof. $S_{\rm O}$ is not smaller (usually larger) than the harmonic mean of $S_{\rm A}$, $S_{\rm B}$ and $S_{\rm C}$. Therefore it must be larger than or equal to (usually larger than) one of the areas $S_{\rm A}$, $S_{\rm B}$, $S_{\rm C}$. Since $S_{\rm O}$ is smaller than or equal to the geometric mean of $S_{\rm A}$, $S_{\rm B}$, $S_{\rm C}$, it must be smaller than or equal to one of $S_{\rm A}$, $S_{\rm B}$, $S_{\rm C}$.

An interesting probability question. If the triangle ABC is broken into four parts by the points D, E, F, so that AD, BE and CF are cevians, what is the probability that $S_{\rm O}$ is the smallest? Surprisingly, the probability is 0. Similarly, what is the probability that $S_{\rm O}$ is the largest? The answer is: 0 again.

255



Figure 3: Comparing the perimeters of the subtriangles

Theorem 2. Let D, E, F be points on BC, CA and AB, respectively, so that BE, AD and CF meet at the point O. We denote $\alpha := \frac{BD}{DC}$, $\beta := \frac{CE}{EA}$ and $\gamma := \frac{AC}{FB}$, where $\alpha\beta\gamma = 1$. We also denote the perimeters of the triangles $\triangle AFE$, $\triangle CDE$, $\triangle FBD$ by P_A, P_B, P_C, re-

spectively, and the perimeter of $\triangle \text{DEF}$ by P_{O} . Then there holds

$$P_O \ge \min(P_A, P_B, P_C).$$

Proof. Without detracting from the generality, we can assume $\alpha < 1$, $\beta > 1$, $\gamma < 1$; the cases $\alpha = 1$, $\beta = 1$ or $\gamma = 1$ are easy to prove in a similar manner.

In our case the harmonic points of D, E, F are the points D_1 , E1 and F1 respectively, which are positioned, as shown in Figure 3, on a single straight line, the polar line of O. We draw from E a parallel to AB, and from F a parallel to AC. These parallels intersect at the point O_1 (inside $\triangle DEF$). It is now clear that $P_{\triangle FO_1E} = P_A$ and $P_{\triangle FO_1E} < P_O$, therefore $P_O > P_A$. \Box

References

- W.H. BEYER (ed.): CRC Standard Mathematical Tables. 28th ed., CRC Press, Boca Raton/FL 1987, p. 122.
- H.S.M. COXETER: Introduction to Geometry. 2nd ed., Wiley, New York 1969, statement p. 211, proof pp. 219-220.
- [3] H.S.M. COXETER, S.L. GREITZER: Menelaus's Theorem. In Geometry Revisited, Math. Assoc. Amer., Washington DC 1967, pp. 66–67.
- [4] R. HONSBERGER: The Theorem of Menelaus. In Episodes in Nineteenth and Twentieth Century Euclidean Geometry, Math. Assoc. Amer., Washington DC 1995, pp. 147–154.
- [5] M.S. KLAMKIN, A. LIU: Three more proofs of Routh's theorem. Crux Mathematicorum 7, 199-203 (1981).
- [6] J.S. KLINE, D. VELLEMAN: Yet another proof of Routh's theorem. Crux Mathematicorum 21, 37–40 (1995).
- [7] A. LOHWATER: Introduction to Inequalities. Online e-book in PDF format, 1982.
- [8] A.M. NESBITT: Problem 15114. Educational Times 3, 37–38 (1903).

Received May 28, 2018; final form November 14, 2018